Geometry A Name:

Section 4.4 SAS Homework Date: Period:

Is it possible to prove that the triangles are congruent? If so, state the postulate or theorem you would use.
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State the third congruence that is needed to prove that AABC = AXYZ using the given postulate or theorem.

5. GIVEN: /B= /E, BC =EF,

N

Use the SAS Congruence Theorem

6. GIVEN: AB=DE, BC =EF, =

Use the SSS Congruence Postulate




7. Complete the proof.

— A
GIVEN: B is the midpoint of AE
B is the midpoint of cD P
PROVE: AABD = AEBC
D
Statements Reasons

1. Bisthe midpoint of AE

2. Definition of midpoint

3. Bisthe midpoint of cD

3.

4. 4. Definition of midpoint
5. /ABD= /EBC 5.
6. AABD = AEBC 6.
A P
8. Complete the proof. T
GIVEN: AB|CD, AB=(CD
PROVE: AABC = ADCB
c ——>
Statements Reasons
1. AB||CD 1.
2. /ABC=z=./DCB 2.
3. AB=(D 3.
4. CB=CB 4.
5. AABC = ADCB 5.




9. Complete the proof.

Given: VW = XY ,WX = YV

Prove : AWXV = AYVX V : W
’ A
Statements Reasons
1.VW = XY 1.
WX =YV 2.
3. 3.
4, AWXV = AYVX 4.
10. Complete the proof.
Given: BC=CD
AC bisects Z/BCD
Prove: AABC = AADC Statements Reasons
1. BC=CD 1.
B, A oD
2. 2. Given
3. 3. Definition of Angle Bisector
4. 4.
¢ 5. AABC = AADC 5.




Answer Key:

1. SAS  2.SSS 3.5AS 4.SAS 5. AB=DE 6. AC=DF

7.1) Given 2) AB=EB 3) Given 4) DB=CB 5) Vertical Angles Theorem 6) SAS
8. 1) Given 2) Alternate Interior Angles Theorem 3) Given 4) Reflexive Property 5) SAS

9. 1) Given 2) Given 3) Reflexive Property 4) SSS

10. 1) Given 2) AC bisects /BCD 3) Z/BCA= /ZDCA 4) R;A_C; Reflexive Prop. 5) SAS



